22 E F1H #

a2

ZA

i

2

BT AN BREIRE(50%) [FRi22F78EM] i

(WA RE)

(1)

#E —4day’

% 3

(2)

55 x> -3x+4

(3)

-27a°b’

(4)

x* +2x* —x?

6x% +x-2

x' +6x° +12x+8

x>+ 32 +2° 4 2xy+2yz + 22x

(8)

3ax(2x +b)

(x -—3){x —4)

(x+2)3x 1)

(ery)(x2 -xy+y2)

SRR IEEREEIRCEEE

(2a-bfx-y)

(6)

3

(7)

C+410

(8)

V7 -3
4

45 x 16M=60/ (

(MWRBOHERIL2R

R)

F #H
28]
MXEBEIRL-BIBOOIZOMNZEF IS0,
2 | (miRpAEE)
(1) 2x+6>15
2 |® x=5
@ J<:<_2
X > —
(3) ~1<x=3
(4)|® X = “"1,
L 1413
6
(5) m= -2,
(8) 2 1
(7) 7 1
AE X 10f =404 ( =)
R R
Y

BREEFFRBFELER
EEFR |
% <F
=
3 | GmiRmaE)
| 4={1, 2, 3, 4, 6, 12}
@oAnB= {4, 6}
ed= {1, 3, 5}
odUB={1, 2, 3, 5}
(3) | 25 {
) 75 {iE
® 36 fid
(4) 6 B
(5) 120 &Y
(6) 720 &Y
;:fiﬁgﬁg&ﬁnoﬁ ( =)
(M 2R W BREOL Maihideg




